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% 18-4. FHEEFMHRE (BREKEZEY) (00%)

PR HE i 3

#5& (ppm) 0 0 [ 25| 75150} 0 0 | 251 75 | 150
i TR\ EEMEk 29 | 31 | 23 | 25 |33 § 2830|2929 29
R BREFIEK 29 | 31 | 23 | 25 | 33

BEREEE (230 27 | 28 | 17 | 24 | 27

BLEREEE (REITE) 2 0 0 1 5

BEREEEE (Lv0E) | 0 | 2 | 0] 0 1

B EREEE FdE) 0 1 0 0 0

B EREEE (D) 0| 0| 3 01| o
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ETRENADEELRE BE) 1 0 1 0|0
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# 18-4. FEFMRE (RKREREY) (03F)

PR HE ;3
¥ 5& (ppm) 0 0 | 25|75 [150] © 0 | 25 | 75 | 150
iR AR \REEYE 29 | 31 | 23 [ 25 |33 | 28 |30 |29 | 29| 29
g EBEEESEREORRE 0 0 01| 0 1 0 0 0 0 0
FEEY | PEERBEESMERE 0 0 0 0 0 0 0 0 1 0
o BAERIE 29 | 30 | 22 |19 {31 @ | 29|29 |27 | 28
AR E E RSB 1211 | 4 [3*]10})15]17}15] 19 ] 12
D S Mz 3
iggigg;ﬁaﬁ%ﬁ Bl i lotlolol1lol2lo0lolo
EEVEEHE>PFREEERT | 0 1 0 0 0 0 2 1 2 1
BEADEEZEUORARTERT | 1 0 0 0 0 0 0 0 0 0
BFZRR 0 1 1 1 2 2 0 1 0 1
g el 0 0 1 0 0 0 1 0 0 0
Ryl 3 0| 2 1 0] o 0 1 1 0
FR R M i 0 1 olo]jJof|oio |0 o0 0
DN M 0 0 1 0 0 0 0 0 0 0
v L 1 0 0 0 0 0 0 0 0 0
FR Rt R aR 0 0 0 0 0 1 0 0 0 0
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pEfatk 0| 0 1 0 0 1 0| o0 0 0
5 oI 1 2 0 0 1 0 1 1 0 0
MEHRITE: (Y D AEE) : g test XU Fisher’s exact test (* : p<0.05)
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MR i3 i3
#5& (ppm) 0 | 0 |25 7511504 0 | 0 | 25| 75 | 150
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(o3x) | RERRBEY 2 3KEH 0|0} 0|0 OO0 ]0]0O0 1
REMEEAEYD R | 1 olo|o]Jojo]o |00 O
BEVCEBMEEEEEERE | 0| 0 0|0 |00 | 0]0]O0 1
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PER e e
58 (ppm) 0 0 |25 751{150] 0 0 | 25| 75 | 150
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% 18-4. FEEMWHRE (RKKEZEY) (0o%)
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% 18-4. FEEBIHRE (RKEREY) (03&)
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fsaR AN G UL 20 | 31 | 23| 25 133 128 |301|29 29 | 29
By | BETOPEEY oV | 18 | 14 [ 4% | 4%* | 14 | 9 8 5 4 3
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% 18-4. JEEBHRE (RKEZRDY) (05I)
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% 18-4. FEFIEFRE (BREZEY) (00F%)

PR i3 i3
58 (ppm) 0| o |25]|75|150] 0] 0 |25} 75]150
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BEMEATIE (Y VFAEES) : x2-test XU Fisher’s exact test (FEZERL)
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# 18-4. JEEGMHRE (RKEZREY) (05&)

PR 33 iv3
52 (ppm) 0 0 | 25|75 |150] 0 0 | 25| 75 | 150
gz AT R \REBE 29 | 31 | 23 | 25 |33 |28 |30 |20 |29 29
TE A RE R I SRR 0|0 |0 0 1
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BB MEIREIERAET 0 0 0 1 0
BT E NIBEIRRIES 0 1 0] 0] 0
:i;z;/%éﬁév? 11olofo]o
9 oI 1 1 0 0 0
PR B B B 1 0 0 0 0
B BE TR 0 0| o0 0 1
B 1 0 0 0 0
T NI 0 1 0 0 0
KI IR 7T FERE 0 0 0 0 1
{LIRMEE IR 0 0 0 0 1
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£ 19. BEERE

i PRI HE i3
i #5% (ppm) 0 0 | 2575150 0 | 0 | 25| 75 {150
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LR [Ae RI LB AM) 0 0 0 0 0 0 0 0 1 0
bolad FRHEPIRE ; FIZE M) 0 1 0 0 0 0 0 0 0 0
b A FEbk T RAREBIE 1 5 1 0 1 1 0 1 4 1
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ohe | gD | RE B) 1 0 0 0 0 0 0 0 0 0
B | Mk | mEmiE (M) ol o{1{0lo]lo]lo]|lo]o]o
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#19. JEBEERE (00%)
B ezl HE e

i B 58 (ppm) 0 0 | 2575150 | 0 0 |25 | 75 | 150
# e REBE 30 | 24 | 36 | 35 | 26 | 31 | 30 | 30 | 27 | 30
BT RARESIE 29 | 21 | 31 | 31 | 25 | 31 | 30 | 30 | 26 | 28
JERRARIE (B) 1 0 1 1 1 0 1 2 0 3
Rk | BRERSA (M) 0 0 1 0 0 0 1 0 0 0
IR RE (B) 3 2 2 2 2 3 2 5 1 3
BB A (M) 0 0 2 1 0 1 1 1 0 0
AT R/AREHIE 30 | 24 | 36 | 35 | 25 | 31 | 30 | 30 { 27 | 30
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3 P LAfE (B) 0 0 0 0 0 0 0 0 1 0
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H PREBMENE (B) ol o o0 1 0| 0 1 0| o0 0
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| PE RELEBA M) 0 0 0 0 0 0 0 0 0 1
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DA (M) 0 0 0 0 0 0 0 1 0 0
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FER FIEARE (B) 24 | 21 { 31 | 26 | 21
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#19. BEEHERE (0o%)

£ PRI i3 i3
i #5& (ppm) 0 0 | 2575 |150| 0 0 | 25 | 75 | 150
# figias REEEK 30 | 24 | 36 [ 35|26 | 31| 30| 30|27 | 30
AT RAREBIE 30 | 24 | 36 | 35| 25 | 31 | 29| 30| 27 | 30
iRIE (B) 1 1 2 0 1 0 0 0 0 2
A DA (M) 1 0 0 0 1 0 0 0 0 1
REEEBRA M) 0 0 0 1 0 0 0 0 0 0
P AT R A G 30 | 22 | 36 | 34 | 26 | 31 | 29 | 30 | 25 | 20
BRiE (B) 0 0 0 0 0 1 0 0 0 0
FIE (B) 0 0 1 0 0 0 0 0 0 0
FHED BFHE (M) 0 0 0 0 0 0 1 0 0 0
MERE M) 0 0 0 0 0 1 0 0 0 0
BT SR G 30 | 24 | 36 | 35 | 26 | 31 | 28 | 30 | 27 | 30
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BRHERE (B) 1 1 4 | 7| 3 1 2 2 1 1
53 HAHEARE (M) 1 ool ol 1ol 11111
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. RELEAEE (B) 0 1 1 0f o] o]0 0] 0] O
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2 BA (M) 0 0 0 0 0 1 0 0 0 0
% BRHEPE(R R AL R
?é S MRS D) (M) 0 oo ooy o000
¥ BAERNERERE) (M) olojolojo o] o] 0] o0 1
JERRERME P E(AR, B,
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FLEEREGERE) (B) 0 0 0 0 0 0 1 0 0 0
(B) : B, (M) : B

WeEHENTE (U P EREE) © y3test XU Fisher’s exact test (* : p<0.05)

REFIETH

(m3<)
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#19. BEMHRE (020%)

B R i e
i #E5& (ppm) 0 0 {2575 |150| 0 0 | 251 75 | 150
# liges REYE 20 | 31 | 23 | 25 | 33 | 28 {30 |29 |29 |29
fgﬂ% YLEEE (B) 0 0 0 0 0 0 0 0 0 1
AT RAREHIE 29 | 31 | 23 {25 ]33 | 28 | 30 | 29 | 29 | 29
p— JiiE_(B) 0o lo | t]oj1tlojlo}|ojo]0o
- BA (M) 1 0 0l o]l oo 0| 0 0|0
SLIEFRAE (M) 0 0 0 0 1 0 0 0 0 0
- At RARE SIS 29 | 31 | 23 {25 | 33 | 28 | 30 | 29 | 29 | 29
FLEEE (B) 0 0 0 0 0 1 0 0 0 0
AT RAREGIE 29 | 31 | 23 1 25 | 33 | 28 | 30|29 | 29|29
il Bit@daimiaiE (B) 3 5 4 5 9 1 1 0 1 1
HEAMB AMEE (M) 0 0 0 0 0 2 0 0 0 0
RENRE (B) 0 0 0 0 0 0 0 1 1 1
e BT R/AREFIE 29 i 31 | 23 | 25 | 33 | 28 | 30 | 29 {29 | 29
EHREE (B) 3 0 4 2 4 2 1 3 1
jﬂ’hﬁ: JHE (B) 1ol 1]2]o0]olo]|ol]1]o0
B T R/ BIE 29 130 | 23 | 22 | 33 | 28 1 29 | 27 | 28 | 29
% | TEE | BE B) 5 16 1 516 | 7 [ 1715 15| 10| 16
2 B M) 0o lojJoj1}o |2 |1 ]2]3]°1
% BT R E RIS 20 | 31 | 23 | 25 133 [ 28 | 30 | 29 | 29 | 29
&) JEIRIRIE (B) 1 2 0 1 2 1 2 0 2 | 0
Y | BRI | BRERRSA (M) 0 0 0 0 0 0 1 1 0 0
IR IRE (B) 5 4 4 4 |11 ] 5 4 1 3 7
BEIRBA (M) 0 2 3 2 0 0 2 3 1 1
AT R/AREGIE 29 | 31 | 23 125 |33 |28 |30]| 29|29 ] 29
B i JIRIE (B) 0 0 0 1 0 0 0 1 0 0
BT LR HEEE (B) 0 1 0 0 0 0 0 0 0 0
- BT R/REHIE 29 | 31 {23 | 25| 33 | 28 | 30 | 29 | 29 | 29
.g8fE (B) 0 0 0 0 0 1 0 0 0 0
PR BT RARE BB 29 | 31 |} 23 {25 | 33 | 28 | 30 | 29 | 29 | 29
frikafRiE (B) 1 0 0 1 2 0 0 2 0 0
- AT RARE IS 29 | 31 | 23 {25133 | 28 |30 | 29 [ 29 | 29
FHigkpE (M) 0 0 0 0 1 0 0 0 0 0
DR BERIERME R AR (M) 0 0 0 0 0 0 0 0 0 1
BN 9 EEYLNE M) 0 0 1 1 1 0 0 1 1 1
BEERMEAME (M) 5 6 8 5 4 | 4 3 6 3 2
P Bt RARE G 29 | 31 |1 23 | 25 |33 |28 |30 |20 | ® |29
SRR 1 1 0 0 0 0 0 0 0 0

(B) : B, (M) : B

MeEHEITE (FV OFAEREE) « y2-test X I3 Fisher’s exact test (ARZER L)

a)REHIETH

(=3<)
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#19. HBIHRE (00%)
B PR i e
ﬁi #E5E (ppm) 0 0 | 25|75 |150] 0 0 | 25| 75 | 150
W s wEEYK 29 | 31 | 23 | 25 | 33 | 28 {30 |29 |29 |29
_ T ARSI 29 1 30 { 22 | 19 | 31 | ® | 29|29 |27} 28
FREE IRIE (B) 0 0 0 1 0 0 0 0 0 1
HiE® FLeEE (B) 0 0 0 0 0 0 1 0 0 0
N BanEE (B) 0 0 0 0 0 1 0 0 0 0
H2 RELERA M) 0 0 0 0 1 0 0 0 0 0
fﬁWﬁ MREEE (B) 0 0 0 0 0 0 0 0 1 0
- A RAREGIE 29 | 31 | 23 | 25 | 33 | 28 | 30 | 29 | 29 | 29
ERME (M) 0 0 0 0 0 0 0 0 1 0
At R/ARESIE 29 | 31 | 23 | 25133 | 28 | 30 | 29 | 29 | 29
FLAR BRuE RS (B) 6 5 3 4 5 |17 117|161 17|18
B M) 0 1 0 0 0 0 3 2 0 0
S BT RARESIE 28 | 30 | 29 | ® | 29
SEhLEPP I IR (B) 1 1 1 1 0
gg% Y LRAEHE (B) 0 0 0 1 0 0 0 0 0 0
o | JRIE (B) 1 |21 ]lo]lofl1 o013 |1
e | DERY BA (M) 0 1 0 0 0 0 0 0 0 0
g - T RARAESIEK 29 | 31 | 23 | 25 | 33
o MEalE (B) 29 | 30 | 21 | 25 | 33
& T R/RZEGIH 28 | 30 | 29 | 29 | 29
P e TENERE (B) 1 1 1 0 0
FENERA (M) 1 1 0 0 3
YiEfniE (B) 0 0 0 0 1
T RS 29 | 31 | 23 25 |33 | 28 |30 | 29|29 | 29
P, BRiE (B) 0 1 1 4 3 0 0 1 2 5
BA M) 0 0 1 0 1 0 0 1 1 1
REEERA M) 0 0 0 0 1 0 0 0 0 0
FHE BiE (B) 0 0 0 0 1 0 0 0 0 0
A RAREGIE 29 | 31 | 22 | 25 |33 | 28|30 | 29| 29| 29
BHI
wEE (B) 0 0 1 0 0 0 0 0 0 0
BT R/ARAEBIEL 29 | 31 | 23 | 25133 | 28 |30 {29 |29 |29
EEMREE (B) 1 2 1 3 2 1 1 1 0 1
RMENE (B) 5 4 4 7 4 1 1 2 2 2
RJE/5 | BRHERRE (M) 0 0 0 1 1 0 0 2 0 0
)54 A AmaE (B) 0 0 1 1 0 0 0 1 0 0
: fBIGHE (B) 1 1 3 2 1 0 1 0 0 0
FLoEfE (B) 3 1 2 2 4 0 0 1 0 0
AiE (M) 1 0 0 0 0 0 0 0 0 0
(B) : B, M : B

EERATE: (Y P A8EE) © g*test XX Fisher’s exact test (HFEZERL)

RE BT

(3<)
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*19. EBEWEHRE (0D0XF)

B PRI HE 3
g B5& (ppm) 0 0 | 25|75 |150| © 0 |25 | 75 { 150
# figae REEWEK 29 [ 31 | 23 | 25 |33 | 28|30 | 29|29 | 29
BT /R A G 29 | 31 | 23 | 25 | 33 | 28 | 30 | 29 | 29 | 29
T | HEHAE (B) 0 0 0 0 0 1 0 0 0 0
HE (M 0 0 0 0 0 1 0 0 0 0
i RNA (M) 0 0 1 0 0 0 0 0 0 0
é asn %’fﬁéwﬁﬁ%ﬂz@(m " 0] o] o] o] 1|loflolo]o]o
% mERBEGHLE. T
g B Y Lt (M) 0 0 1 0 1 0 0 0 0 0
# ﬁ?‘f* ggﬁfﬁ?ﬂmﬂﬁ I s el oo lolol1jololo
PfE DR, AP, Vv
S35 B (M) 0 0 0 0 0 1 0 0 0 0
REEE 50 | 55 |59 ] 60 {59 | 59 | 60| 59 | 56 | 59
™ FRERE
o N FLEERE (B) olojojoflojojoto]| o1
BWOEY | RELEPA M) 0 0 0 0 1 0 0 0 0 0
BT R/ARE B 55 | 52 1 54|56 | 55 | 55| 57 | 57| 50 | 56
o BRIE (B) 0o lo 1 jo}1jio 0] 0] 0|0
- BA (M) 1 0 0ol o | o] o0 0| o 0] o0
SEIEPIE (M) 0 0 0 0 .| 1 0 0 0 0 0
AT RAREHIEK 59 | 54 1 59 | 60 | 58 | 59 | 59 | 59 | 56 | 58
= IR ARAENE (B) 0 1 0 0 0 0 0 0 0 0
YLeEfE (B) 0 0 0 0 0 1 0 0 0 0
g2 = AT RAREGIEK 57 | 54 | 55 | 59 | 59 | 58 | 57 | 59 | 55 | 57
) SLUENE (B) 0 0 0 0 0 1 0 0 0 0
4,? At R/AREHIEK 58 | 55| 55 | 60 | 58 | 59 | 59 | 59 | 56 | 57
AR | BB RE (M) 0 0 1 0 0 0 0 0 0 0
BA (M) 0 0 1 0 0 0 0 0 0 0
BT RARE G 59 | 55 | 59 | 60 | 58 | 59 | 60 | 59 | 56 | 59
- A% RERE (B) 0 0 0 0 0 2 2 1 1 2
‘ RiEtEGMEE (B) 31919812210 ] 1]1
) BB A ME (M) 0 0 0 0 0 2 0 0 1 0
Bt RREBIEL 59 | 54 | 59 | 60 | 57 | 59 | 59 | 58 | 56 | 58
EfmiiRiE (B) 4 4 3 6 3 | 4 3 1 3 1
FAEHER Bpans A (M) 0 0 0 0 0 0 0 0 1 0
W RIE (B) 0 1 0 0 0 0 0 0 0 0
SRy A (M) 0 0 1 0 0 0 0 1 0 0
B) : B, M) : Bk

RN (Y DFAREE) « yPtest Xi Fisher’s exacttest (FEZER L)

yREHIFAH

b)53 BLIE DR FIEL « THEEREMR CREERSIME L8 L 75,
(L)
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£ 19. BEERE (020%)

i il i i
ﬁ #5# (ppm) 0 | 0 [25] 75150 0 | 0 |25 | 75150
# s BREBE 59 { 55|59 | 60 | 59 | 59 [ 60 | 59 | 56 | 59
;)t&d‘ﬁ: JIE (B) 211 |l2l0o0]o]o|lol|1]o
AT RARZE IS 56 | 53 | 58 | 56 | 59 | 56 | 56 | 55 | 55 | 57
T®EE |RE B) 9 | 13|18 | 18 | 11 | 32 | 26 | 31 | 32 | 34
BA (M) 0 1 0 3 0 5 3 6 5 5
A BRI s1 {50 | 53|53 ] 55 52| 52| 54]52]53
TRAIRIRIE (B) 2 2 1 2 3 1 3 2 2 3
FRE | BRRRAA (M) 0 0 1 0 0 0 2 1 0 0
FRERRE (B) 8 6 6 6 | 13 | 8 6 6 4 | 10
ERIRR A A (M) 0 | 2 5 13 0 1 3 4 1 1
BT R/REHIE 59 | 55|59 | 60 | 58 | 59 | 60 | 59 | 56 | 58
i JRfE (B) 0 0 1 1 0 1 0 1 0 0
AE (M) 0 1 0 1 0 0 0 1 0 0
BAT LR AR (B) 0 1 0 0 0 0 0 0 0 0
- BT R/ EFIEK 50 | 54 | 59 | 58| 58 |5 | 60 | 59 | 55 | 58
FLEEE (B) 0 0 0 0 0 1 0 0 0 0
e AT RAREHIE 59 | 55 | 59 | 60 | 58 | 59 | 60 | 59 | 56 | 58
FriBfaiRiE (B) 1 2 0 2 2 0 0 2 0 0
2 | mpy Bt RAREGIE 59 | 55 | 59 | 60 | 59 | 59 | 60 | 59 | 56 | 59
& | MERAE (M) 0o lo oo 1]lo]olo0o]o]lo
L) SR YERIERME B M (M) 0 0 0 0 0 0 0 0 0 | 1
Vg )~/ N (M) 1 10 12 | 1 |t | 3]0 2/|21°2
T HERMEERE (M) 19 { 17 | 20| 18| 13| 9 12 | 10 | 6 9
- Bt R/AREGIE 59 | 54 | 59 | 60 | 58 [ 59 | 59 | 59 | ¥ | 58
VR AR 1 1 0 0 0 0 0 0 0 0
T Bt R/RE B 51 | 49 | 52 | 47 153 | ® | 51 | 54 | 50 | 52
RREEIRE (B) 0 0 0 1 0 0 0 0 0 1
T RARAE G 59 | 55|59 | 60 | 59 | 59 | 59 | 59 | 56 | 59
ERMEE (8B) 0 0 1 0 0 0 0 1 0 0
P FA<HE (B) 0 0 0 0 0 0 0 0 1 0
JB3EME (M) 0 0 0 0 0 1 0 0 0 0
FHEPRAENE (B) 0 0 0 1 0 0 1 0 0 0
FRRERHEAE (M) 0 0 0 0 0 1 0 0 0 0
HEY FLEHE (B) 0 0 0 0 0 0 1 0 0 0
AN BEERE (B) 0 0 0 0 0 1 0 0 0 0
Ha RELEBRAY M) 0 0 0 0 1 |10 0 0 0 1
O T RAREGIEK 58 | 53 | 56 | 59 | 59 | 59 | 59 { 59 | 55 | 59
TCUoVIRRE (B) 0 0 0 0 0 0 0 1 0 0
f*%**ﬁ R HEE (B) 0 0 0 0 0 0 0 0 1 0

B) : BiE. (M) : B

VEEHRATE () OF N REE) : y2test X1 Fisher’s exact test (* : p<0.05)

)REHIETH

DERUHEILEIT DRFLEBAOREE
)53 BLUBEOBRRELE - BRI R REERBVZEEBME T5.

(m3<)
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#219. EEMRE (0I%)

B MR HE i3
g 55 (ppm) 0 0 | 25| 75150 | 0 0 | 25 | 75 | 150
# figas REBYE 59 | 55 | 59 | 60 | 59 | 59 | 60 | 59 | 56 | 59
B BT ARSI 59 | 54 | 59 | 60 { 59 | 59 | 60 | 59 | 56 | 59
ERMEE (M) 0 0 0 0 0 0 1 0 1 0
I BT RARESIEK 58 | 53 156 |59 |59 |5 | 59|59 | 55| 59
DU )VIRIRIE (B) 0 0 0 0 0 0 0 1 0 0
BT RAREHIEK 50 | 55159 | 60! 59 [ 59] 60 | 59 | 56 | 59
BRME B R ERES (B) 6 6 4 5 7 127 130 {29 |29 | 27
FLAR BA (M) 1 1 0 0 0 1 4 2 1 0
RELENA (M) 0 0 0 0 0 0 0 1 0 0
AIE (M) 0 0 0 0 0 0 0 0 1 0
SPES BT R/AREGIEK 59 | 60 | 59 | @ | 58
FEhBOR A ARiE (B) 1 1 1 1 0
ggﬂf R LEARE (B) olojo0}{1 0|0 0| 1|00
o | BRIE (B) 3 (3]l 2]l210l21]12]101]3]"1
ELRR Y BA (M) 0 1 0 0 0 0 0 1 0 0
AT RARZEHIE 29 | 24 | 36 | 35 | 26
2 | g FECAIIAE (B) 53 | 51| 52 | 51| 54
L REIEA A (M) 0 | 1|0 ] 00
4? BT RIS 59 | 60 | 59 | 56 | 59
B TENERE (B) 1 2 1 0 0
FENERA M) 1 1 0 0 4
FiRfGE (B) 0 0 0 1 1
T B
%) IETAE (M) 2 1 0 0 0
JE 9 YIEfRIE (B) 0 0 0 0 1
BT R/RE RIS 59 | 55 | 59 | 60 | S8 [ 59 | 59 | 59 | 56 | 59
i ifRiE (B) 1 2 3 4 4 0 0 1 2 |7
MBsA (M) 1 0 1 0 2 0 0 1 1 2
REELEBA (M) 0 0 0 1 1 0 0 0 0 0
Bt R/REGIE 59 | 53 | 58 | 59 | 59 | 59 | 59 | 59 | 54 | 49
a5 | BRE (B) 0 0 0 0 0 1 0 0 0 0
e (B) 0 0 1 0 0 0 0 0 0 0
BHE (M) 0 0 0 0 0 0 1 0 0 0
FHED mMERE (M) 0 0 0 0 0 1 0 0 0 0.
FHE (B) 0 0 1 0 1 0 0 0 0 0
B) : BiE. M) : B

etk (Y OFAEEE) ¢ y2-test X I3 Fisher’s exact test (*** : p<0.01)

)REFIETH

b)53 ELAEDRFEL - HAERBMR RKEREMZEBW LT D,
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#19. BEEMHRE (o5%)

B R i i3
i 5 & (ppm) 0 0 | 25| 75150 | 0 0 | 25 | 75 | 150
# fisias MRAEEYEK 59 | 55 | 59 | 60 | 59 | 59 | 60 | 59 | 56 | 59
AT R/REGIE 59 | 55 | 59 | 60 | 59 | 59 | 58 | 59 | 56 | 59
FHEMIEE (B) 2 2 3 4 2 2 1 1 1 1
BRAEE (B) 6 5 8 | 14*{ 7 2 3 4 3 3
HEPIIE (M) 1o ]lol 1]l 2lol1l3 1|1
fA{bpiniaiE (B) 0 0 1 1 0 0 0 1 0 0
TIEfEIE (B) 01 0 0 1 0 0 0 0 0 0
i’g M ewE 8 1 13 (3ls5lol1l1]lo]o
FERGAIE (M) 0 1 0 0 0 0 0 0 0 0
YLORME (B) 3 3 3 4 7 0 0 1 6 0
I (M) 2 0 0 0 0 0 1 0 0 0
FERERRIE (B) 2 0 0 0 0 0 0 0 0 0
RELEBA (M) 1 |2 ] 1|0 1]0j0}01]07]G@0
RaEBA (M) 0 lolo]o |1 ]0o}{o0o]o0]| 070
B /AR HIEK 59 | 54 | 59 | 60 | 59 | 59 | 60 | 59 | 56 | 58
B | IEGAE M) 0 0 0 0 0 1 0 0 0 0
PE (M) 0 0 0 0 0 1 0.] 0 0 0
& DA (REFMAH) M) | 0 0 0 0 0 1 0 0 0 0
) BA (M) 0 0 1 0 0 0 0 0 0 0
P BRUEAE( LA (B) 01000 1j0 0] 0 }0]0
b BRHERIE (IO E
RALHERMESNhD) M| o 0 0 0 0 1 0 0 0 0
FRAHEPRIECERE) (M) 0 0 0 0 0 0 0 0 0 1
mERE (HEE. R
Y @) (M) 0 0 1 0 1 0 0 0 0 0
FEREERVEBERIR, B,
&5dH | FE TR, fIE. Vo
AWE | N, IR M) 0 0 1 0 0 0 1 1 1 1
BET | ZwEmeiE ) o | o | o]l olol 1 ]lo]lolololo
B o R Rl HalE, T
ARk (M) 2 1 1 2 2 0 0 0 0 1
HiE (ERRULEMH)
(M) 0 0 0 1 0 0 0 1 0 0
HiE (IERE) (M) 0 0 0 0 0 1 0 0 0 0
AECDER. AT, D s
i, ) (M) 0 0 0 0 0 1 0 0 0 0
RELEBA (RCEEE
) (M) 0 0 2 0 3 0 0 0 3 1
JLEEE (B) (F8ER) 0 0 0 0 0 0 1 0 0 0

(B) : B, M) : Bk
BLEHfENTEE (Y DFAREE) ;- yPtest I Fisher’s exact test (* : p<0.05)
REHIHRHA
b)53 HLAEDBFEL - EEREBMR OERERDMEEBH L T2,

(o3)
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#19. EBEHHRE (0I%)

R He is'3
# 58 (ppm) 0 0 25 75 | 150 0 0 | 25 75 | 150
BREBYEK 70 70 70 70 70 70 70 70 70 70
W B 108 | 115 | 122 | 139 | 134 | 90 85 88 87 95
B 30 29 42 31 34 33 31 36 27 30
&g 138 | 144 | 164 | 170 | 168 | 123 | 116 | 124 | 114 | 125
HIEE B 59 58 61 61 57 57 | 56 59 56 57

BERHRATER | EfEET
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